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BCM/A-19 21019
BUSINESS STATISTICS
Paper-BC-204
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting at least one and
not more than fwo questions from each unit. All questions
carry equal marks.
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UNIT-I (¥&TE-1)

1. Define Statistics and discuss its functions and limitations.
wifers = R Fife qon 9% wE @ d@En
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2. (a) What are the mathematical properties of Arithmetic
mean?

(b) Average daily production of cycle tyre in a factory for

first 20 days of a month was 390 and for remaining

10 days the average daily production was 400 tyres.

Calculate the average daily production for the whole
month.

(1) TR A1e &) T fasvand s@ )

21019/850/KD/1578 [PTO.
18/4



() 7EH = wom 20 A & fo ©F FrEn ¥ anfee ®
T 1 i A IEEA 390 TRR W ok wER @
¥ 10 A =1 7% sim A 3w 400 TR om R
wE F siww A s o Fifg

Obtain the two regression equations from the following table :

e woft @ T weftee T §m S

X 20-25 25-30 30-35
 §
16-20 6 4 2
20-24 3 1 5
24-28 2 ¥ -

Calculate the Rank coefficient of correlation from the
following data :

fre g @ FogER (W) we-w=r e # mom
Eain

X |80 |78 |75 |75 |68 |67 | 60| 59

Y |12 |13 |14 |14 |14 |16 | 15| 17

UNIT-II (¥eTE-II)
Define Index number. Explain the importance and limitations
of Index numbers.

oFiF H e dfm gewE w1 Aee ¥ el
F FUR HifQ

21019/850/KD/1578 2

6. From the following table find the cost of living index of
1980 on the basis of 1970 by Aggregate expenditure method :
Items Quantity in 1970| Unit Prices

1970 1980
Wheat 4 Qtls Kg | 1.50 1.70
Rice 20 Kg Kg 10 14
Sugar 10 Kg Qtls | 500 600
Clothing 20 meters meter | 8 10
Rent One House | House| 100 125
= wreft § 1970 F omuR T AEER T 1980 B faw
e =7 fafy g e frafe fdwist =1 = #ifm .
Lt 1970 § = | T LaL
b 1970 1980
L4 4 Tz feat | 1.50 1.70
e 20 famit fee | 10 14
=t 10 e | fRe® | s00 600
FIE! 20 HR e 8 10
EaiE] TF W W 100 125
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, 7. Find the trend value by using three yearly moving Averages
of the following data : |

dH-auta = meg dfq | ST gew 9@ wifag)

7 Year Production

(in 1000 tonnes)

2000 8
2001 12
2002 13
2003 11
2004 16
2005 20
2006 18
2007 . 25
UNIT-III (¥e8-11D)

8. Explain the various basic concept of Probability.
wafafefe #1 fafe= omuRsm yRons ® FUR HC

9.  Four coins are tossed 80 times and results were obtained.

=r faasl # 80 TR IVEM W Fr= wRom W@ gul

No. of Heads| 0 1 2 3 4
Frequencies 11 20 35 16 8
Fit a Binomial Distribution.

T (SwAifher) famm =1 fire S
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' 10, A company manufactured fans. If 2% fans are found to be

defective, find the probability that out of a sample of
200 fans more than 3 fans are defective.
(Given ¢* = 0.0183)
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(Given e* = 0.0183)
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